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Diagram not drawn accurately.
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100 50 20 10 2.5

x is directly proportional to y

x is inversely proportional to y

x is neither directly nor inversely proportional to y
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2(Bm + 4) > Tm
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a Here is a linear graph.
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The volume of a cone is given by the formula V:%mﬂh.

Find the volume of the cone, giving your answer in terms of z.
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You must show all your construction lines.
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Amir is investigating the difference between the products of the numbers
in the opposite corners of a 2 by 3 rectangle placed on a hundred square.
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Amir calls the top left number in his rectangle x.
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Write expressions to complete the rectangle.

X x+1

x+ 1
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22x14-=308

12x 24 =288

308 - 288 - 20

1 mark

White

Rese
Maths



It doesn’t matter
where | place this
rectangle on a hundred square.
The difference between
the products of the numbers
in the opposite corners
will always be 20

Show that Amir is correct.
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ABCD is the plan view of a garden.
A tree is to be planted so that it is more than 5 m away from D,
and closer to CD than BC.

Shade the region where the tree could be planted.

You must use a ruler and a pair of compasses.

Show all your construction lines.

A B

D C

Scale 1 cm stands for 1 m.

3 marks
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The line y = 3x + 7 is perpendicular to the line y = 4 —%x

Is the statement true or false”? Circle your answer.

True False

Explain your reasoning.

1 mark
The volume of a cylinder of height 8 cm is 72z cm?
Find the radius of the cylinder.
cm
2 marks
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n Determine whether the triangles are congruent.

7 cm

70 mm

41° 42°

41°

>

Diagrams not drawn accurately.
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3x +4

3 marks
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